ﬂé Finding Product (3 x 2) Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

A race was 979 meters. If 31 people ran in the marathon how many meters would they
have run total?

A candy store had 300 empty shelves. If each shelf can hold 21 pieces of candy, how many
pieces would they need total to fill up all the shelves?

The ice machine in the lobby of a hotel makes 727 pieces of ice aday. How much ice
would it have madeif it ran for 40 days?

Mariawas building a LEGO tower. She built it with 163 stories and with 71 blocks on each
story. How many LEGO blocks would she have used?

A construction crew uses 530 pounds of concrete for each section of a parking garage. If
the garage is going to have 14 sections, how many pounds of concrete will they need?

A vat of orange juice contains the juice from 349 oranges. If acompany has 27 vats, how
many oranges would they use to fill them all?

A pizza chain uses 810 grams of cheese on their pizzas. If they sold 50 pizzas, how many
grams would they have used?

A school bought 153 boxes of computer paper for the computer lab. Each box had 55
sheets of paper inside it. How much paper did they buy total?

Each day the gumball machine in the mall sells 637 gum balls. How many gum balls would
they have sold after 22 days?

A video game company can fit 222 boxes of gamesinto atruck. If they have 96 full trucks,
how many games do they have total?

Answers

10.

50[40]30]20]10] 0O |

M ath 6 1-10 [ 90| 80| 70| 60

www.CommonCoreSheets.com



ﬂé Finding Product (3 x 2) Name. Answer Key

Solve each problem. Answers
1) A racewas 979 meters. If 31 people ran in the marathon how many meters would they
have run total ? 1 30,349
2. 6,300
2) A candy store had 300 empty shelves. If each shelf can hold 21 pieces of candy, how many
pieces would they need total to fill up all the shelves? 3 29,080
4 11,573
3) Theice machinein the lobby of ahotel makes 727 pieces of ice aday. How much ice
would it have made if it ran for 40 days? 5 7,420
6. 9,423
4) Mariawas building a LEGO tower. She built it with 163 stories and with 71 blocks on each
story. How many LEGO blocks would she have used? 7 40,500
8. 8,415
5) A construction crew uses 530 pounds of concrete for each section of a parking garage. If
the garage is going to have 14 sections, how many pounds of concrete will they need? . 14,014
10, 21,312
6) A vat of orange juice contains the juice from 349 oranges. If a company has 27 vats, how
many oranges would they use to fill them all?
7) A pizzachain uses 810 grams of cheese on their pizzas. If they sold 50 pizzas, how many
grams would they have used?
8) A school bought 153 boxes of computer paper for the computer lab. Each box had 55
sheets of paper inside it. How much paper did they buy total?
9) Each day the gumball machine in the mall sells 637 gum balls. How many gum balls would
they have sold after 22 days?
10) A video game company can fit 222 boxes of gamesinto atruck. If they have 96 full trucks,
how many games do they have total?
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ﬂé Finding Product (3 x 2) Name:

Solve each problem.

7

7,420 21,312 8,415 40,500 14,014

30,349 29,080 9,423 6,300 11,573

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

A race was 979 meters. If 31 people ran in the marathon how many meters would they
have run total?

A candy store had 300 empty shelves. If each shelf can hold 21 pieces of candy, how
many pieces would they need total to fill up all the shelves?

The ice machine in the lobby of a hotel makes 727 pieces of ice aday. How much ice
would it have madeif it ran for 40 days?

Mariawas building a LEGO tower. She built it with 163 stories and with 71 blocks on
each story. How many LEGO blocks would she have used?

A construction crew uses 530 pounds of concrete for each section of a parking garage. If
the garage is going to have 14 sections, how many pounds of concrete will they need?

A vat of orange juice contains the juice from 349 oranges. If acompany has 27 vats, how
many oranges would they use to fill them all?

A pizza chain uses 810 grams of cheese on their pizzas. If they sold 50 pizzas, how many
grams would they have used?

A school bought 153 boxes of computer paper for the computer lab. Each box had 55
sheets of paper inside it. How much paper did they buy total?

Each day the gumball machine in the mall sells 637 gum balls. How many gum balls
would they have sold after 22 days?

A video game company can fit 222 boxes of games into atruck. If they have 96 full trucks,
how many games do they have total?

Answers

10.
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